
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

One sheet of A4 paper takes over 5 litres of water to 
make! This takes into account growing the tree and the 

water used in manufacturing paper. 
 

1 A4 sheet of paper weighs 5 grams, therefore 5 grams 
of paper uses 5 litres of water. So 1 gram of paper uses 5 
litres of water. 

 
On average a paperback book weighs 450g. The 

production of this paper emits 7.5kg, or 7500grams of 
carbon dioxide (CO2) emissions. Therefore 1 gram of paper 

produces 17grams of CO2.  
 
 One 

10-Inch 
diameter tree 
is estimated to 

make around 60 
b k  ith 100 


